Red

1) 3431 + 38 = 3469
2) 3241 + 57 = 3298

3) 4091 + 87 = 4178
4) 5891 + 107 = 5998 .
5) 6327 + 151 = 6478

6) 5440 + 229 = 5669

7) 6492 + 239 = 6731
8) 4528 + 493 = 5021

1) 3475 + 78 = 3553
2) 4584 + 92 = 4676
3) 7685 + 75 = 7760
4) 6327 + 151 =6478
5) 5440 + 229 =5669
6) 6492 + 239 =6731
7) 4528 + 493 =5021
8) 6771 +343=7114

1) 4576 + 323 = 4899

2) 3463 + 436 = 3899

3) 8183 + 515 = 8698

4) 9047 + 752 = 9799

5) 8839 + 684 = 9523

6) 5999 + 846 = 6845

7) 77429 + 489g = 8231g

8) 9994 km + 986 km = 10 980 km

Blue



There are mistakes in the following
calculations. Explain the mistake and

then make a comrection to find the
comect answer.

2451
+562
8071 Correct answer is 3013. The numbers were not lined up correctly




